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o A B4 LRIk 52 BIANZELE | RAZESLLH) HA4&L4$s
ICE it FIr 5 50000 % 22.68 i 1:4.536 AHMREET 5 i
NYBOT11#4E FIr 15 112000 T 50.8 fif; 1: 5.08 HHEEET 10 Wi
Comex # 4 K477 100 #% 7] 311 T3 1: 3.11 VPEBFL TR
Comex 4R ¥4 /#:w | 5000 &AT#EF | 155.52 F 1: 10.368 VHREF 15T
TOCOM #4 5z HIE/A 5 i 5 i 1: 05 VRRETF 10 M
LME 4 2 S5/ 25 I 25 I 1: 5 VAT 5 g
LME 44 5 T/ 25 i 25 i 1: 5 VHERRET 5 g
LME % 5 T/ 25 i 25 i 1: 5 VEERT 5 f
LME 4% 2 e/ 25 i 25 i 1: 1 VYRR T 25 I
CBOT K& | £4r/#NH | 5000 j#=UH 136.08 N 1: 13.608 T 10 M
CBOT &4 ESyIv )AL 100 FH i 90.72 i 1: 9.072 HEGAEET 100
CBOT 5. LI 60000 f% 27.2155 i 1: 2.72155 AT 10 I
BMD F5AH A 25 I 25 i 1: 25 HEAR AT 10 M
ICE JHIZEHf piswiL 20 i 20 i 1: 2 H S BT 10
CBOT 12k | £4r/7#NH | 5000 y#=0H 127.002 Hi 1: 12.7002 B TOKEET 10 W
CBOT /& | FE4rh#lH | 5000 N H 136.0775 Hif; 1: 6.8039 a7 5 F 20 Wl
CBOT fEK LR 2000 FLfH 91 nli 1: 4.55 FHRFE T 20
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1% XHFK5=27216 A

142°£=2000 #5 1 #=453.6 5.

LK

1 acre 3 w=4840 sq.yd.-F 7 #5=0.405 hectare /1
1 square mile -F 77 3 ¥.=640 acres 3w =259 hectares
12 ounce #8 % &)=1lbs 4

1 troy ounce #4#7 %1 % 5]=31.103 grams Jt.

1 troy ounce #4-f#] % 5)=0.031103 kilogram F 5%
1 troy pound # 4 #; #] #5=0.37224 kilogram - 5%
1 tonne =£=1,000kilograms 5 =10 quintals 42

1tonne wk=2204.6 Ibs #§

1tonne »k=1.102 short tons %@k vt)
1 tonne= 0.9842 long tons K v, (3% vk.)

Celsius #& X & (C) #& Fahrenheit £ K& (F)
C=5/9(F-32)$35#8 F=9 X C/5 + 32




